
 �

� �

�

P-14 

 
© Copyright Normann Engineering GmbH, Linzer Straße 139, A-4600 Wels, Tel. +43 7242 70921-0 (Fax DW –20), office@normann.at    v3.0, Irrtum, Satz- und Druckfehler vorbehalten 

���������	����������	
������	�
��������

1D
>'1				�1�	C��	�
�

	

�!�!�����	1�	���������!2��	���������	$�	�����	#����"��	
�

	

• ���#�2���� 	�83	��'1	�'=	�		


� �����	-(>��
$	�
3	

• �!�#��)� 	B	 �)����� 	>���(�������	�		

����	C	<���	9���	
����������	

• C	1������)����	/�����	����� �-�.�9	������*	>���	���	?�!��	�		

5����	����	�����	���������&	�������	9����	4����	

• ?����.��#������!�)��	?!�� �)!��	�	

3���	<�������	'�	$�����	�������	�'$��	

• ��)� (���)!��	=���� �-�.���	�	

�����	8�������	$������	

• L�!���  #��0�!��	�	

5����	<�������	

• =���� �-�.����	���0����! �)�	'�������#-)����	�		

����������	
������	/����	��
/�	$������	

• 
�����E�	B	=�����!���	�!�	,?�	B	�1�	�		

5�����?�	C	$�������	$��������	��	%4�	C	'$�	

• ���#�2���� 	���������������	:��0.���	% (�����*	�+ �)��*	

��/����*	����������*	5�2��!���&	�		


� �����	�������	����������	5����	�8��!�	�������	��"��	#������	<�"�������	

• 	�	�!�!�	%;	1�������&	���	�! (��4	��#	���	,�������#��	�		

1	�����	�D�$�������	8��	�������	��	���	<����	
����	

• �,?1	B	�6?	,!����� ����	2!�	1�>�
	�		

�%4$	C	#/4	%����	'�����	"��	$�9#5	

• �,?1	,!����� ����	2!�	��>	�		

�%4$	%����	'�����	"��	#�9	

• ����4	�!�!���	����� ����	�� 	2!�	1�'��5	�		

�����	�������	4��������	'��	"��	$2
��<	

	

�

1(�.!#!0��!������$��������������
	

	
14 ���	��  ����� � >�,	B	����	��(������(���

�������	����	���� ��2�
��� �������%� �+���#0���� +���	��+����0O��	��������

5!������1	�"��� ��� "���� � #���	�.��0�	��������

��0���0#���� �2�� "���� 0�#�#�+� +���	��+���	��������

�����	
����� #���	��8�.��0�	��������


����"��� 5�1�!����!����)���	�������� ����
5� �	�8��!�?�
�����!���6���!�#���	�	��


��������$����"� 4���,7�W�)4)��,7� �	! "���6���!����������1�
������

�'�6	
1	>�,	�����!��� 0���:��� ����������������4���F �����

������	��������1� ���O��� (��������� ��"���


�����0���� ��8������ ����� '�/��	1�((�4�

#������0���	� 3K:D��2K(D�.�������	8� 
�����+	!��6�� 5����+	!��6��=�����4�+�#�D�4��2��,7>�

+���	����	���6� ���O��D����O����������	��!��������!�/�!� �	'����	���1���	�� ���&��#*�=.����������&���������� "�1	��>�

+���	�0��	!���	�� 9��R492�]�#.^���9��R3)��]B���^� ')4 !���	1(��!#!���!�� �

#���	����	���6� ���O���.�"�������D��	! "���6���!� ��7��]&R,R�^� ����11�*�3��11�*��2��11�

#���	��	��� .������0�6����������	� B���&��6��� ����J6���

��1�!��6�0���� :�D�33�������3)�F,7� 
������	����1��������� �L���;34L����

�5$���������	%�(�!����&	 ��	��6����1��������� ���L���;9�L����

�..��"��� �,���2(��	����1	��!���	�� ��	��6��,�1����"� 4M�(4M�0,�=B	���	�������6>���

�+���������� �#.��O�
��F���!���� !��

05��	�����	�� 94�SD���!��5�1�!��

5��$����"�0��6�� %,5�39��)2��,7�

	

	

	

s.feigl
Textfeld




